
 

Varios administrativos: 

************************************************************************************* 

Tamanho do banco de dados 

************************************************************************************* 

 

select to_char(sum(dados) / 1048576, 'fm99g999g990') dados, 

       to_char(sum(undo) / 1048576, 'fm99g999g990') undo, 

       to_char(sum(redo) / 1048576, 'fm99g999g990') redo, 

       to_char(sum(temp) / 1048576, 'fm99g999g990') temp, 

       to_char(sum(free) / 1048576, 'fm99g999g990') livre, 

       to_char(sum(dados + undo + redo + temp) / 1048576, 'fm99g999g990') total 

from ( 

  select sum(decode(substr(t.contents, 1, 1), 'P', bytes, 0)) dados, 

         sum(decode(substr(t.contents, 1, 1), 'U', bytes, 0)) undo, 

         0 redo, 

         0 temp, 

         0 free 

  from dba_data_files f, dba_tablespaces t 

  where f.tablespace_name = t.tablespace_name 

  union all 

  select 0 dados, 

         0 undo, 

         0 redo, 

         sum(bytes) temp, 

         0 free 

  from dba_temp_files f, dba_tablespaces t 

  where f.tablespace_name = t.tablespace_name(+) 

  union all 

  select 0 dados, 

         0 undo, 

         sum(bytes * members) redo, 

         0 temp, 

         0 free 

  from v$log 

  union all 

  select 0 dados, 

         0 undo, 

         0 redo, 

         0 temp, 

         sum(bytes) free 

  from dba_free_space f, dba_tablespaces t 

  where f.tablespace_name = t.tablespace_name and 

        substr(t.contents, 1, 1) = 'P' 

) 

 

 

 

 


